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CHAPTERWISE REVISION EXERCISE

Chapterwise Revision Exercise Gst Good Services Tax

1. Find the amount of bill for the following intra-state transaction of

goods/services. The rate of GST being 12%:

MRP (in ©) 600 450 900 750
Discount % 40 n 20 30

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_uRQHHrDhMwJk

2. Find the amount of bill for the following inter-state transaction of

goods/ services. The rate of GST being 5%.

MRP (in ¥) 9,600 6,000 10800 | 9,000 7.200
Discount % 20 50 0 30 40
o Watch Video Solution

3. Find the amount of bill for the following transaction of goods/services

from Patna (Bihar) to Ajmer (Rajasthan):

GST% I8 I8 12 12
MRP (in ¥) 12,000 15,000 5,200 £.000
Discount % 30 40 30 0

° Watch Video Solution

4. Find the amount for the following transation of goods/serives within

Gujarat:


https://dl.doubtnut.com/l/_21XGCs9WxK02
https://dl.doubtnut.com/l/_BNQUEUQb2hfW
https://dl.doubtnut.com/l/_fVlbyuQiYHgg

MRP (in TVitem W0 &0 480
Number of items 40 SO

GST% 12 12 I8

° Watch Video Solution

5. A dealer in Kanpur (U.P) supplies goods worth Rs 5,000 to a dealer in
Meerut (U.P). The dealer in Meerut supplies the same goods/services to a
dealer in Delhi at a profit of Rs 2,000. Find the cost of goods/services in

Delhi as per GST system. The rate of GST is 18%.

° Watch Video Solution

Chapterwise Revision Exercise Banking

1. Ashok deposits Rs 3,200 per month in a cumulative deposit account for
3 years at the rate of 9% per annum. Find the maturity value of this

account.



https://dl.doubtnut.com/l/_fVlbyuQiYHgg
https://dl.doubtnut.com/l/_XqI1ZHCsuZrw
https://dl.doubtnut.com/l/_j5y3W3W66rB4

| Y Watch Video Solution J

2. Mrs. Karna has a recurring deposit account in Punjab National Bank for
3 years at 8% p.a. If she gets Rs 9,990 as interest at the time of maturity,

Find:

o Watch Video Solution

3. Mrs. Karna has a recurring deposit account in Punjab National Bank for
3 years at 8% p.a. If she gets Rs 9,990 as interest at the time of maturity,
Find:

(a) the monthly installment (b) the maturity level

o Watch Video Solution

4.A man has a 5 year recurring deposit account in a bank and deposits Rs
240 per month. If he receives Rs 17,694 at the time of maturity, find the

rate of interest.


https://dl.doubtnut.com/l/_j5y3W3W66rB4
https://dl.doubtnut.com/l/_bQeOC6ORbcp6
https://dl.doubtnut.com/l/_E59EclBuKTYQ
https://dl.doubtnut.com/l/_dTFVmOsjaCx2

° Watch Video Solution

5. Sheela has a recurring deposit account in a bank of Rs 2,000 per month
at the rate of 10% per annum. If she gets Rs 83,100 at the time of maturity,

find the total time (in years) for which the account was held.

° Watch Video Solution

6. A man deposits Rs 900 per month in a recurring account for 2 years. If
he gets Rs 1,800 as interest at the time of maturity, find the rate of

interest.

° Watch Video Solution

Chapterwise Revision Exercise Shares And Dividend



https://dl.doubtnut.com/l/_dTFVmOsjaCx2
https://dl.doubtnut.com/l/_90i57lUmXLW5
https://dl.doubtnut.com/l/_yJ999yfGMrwK

1
1. What is the market value of 45 % (Rs 100) share, when an investment

of Rs 1,800 produces an income of Rs 727

° Watch Video Solution

2. By investing Rs 10,000 in the shares of a company, a man gets an
income of Rs 800, the dividend being 10%. If the face-value of each share
is Rs 100, Find:

the market value of each share.

° Watch Video Solution

3. By investing Rs 10,000 in the shares of a company, a man gets an
income of Rs 800, the dividend being 10%. If the face-value of each share
is Rs 100, Find:

the rate percent which the person earns on his investment.

° Watch Video Solution



https://dl.doubtnut.com/l/_LxeV494WgrnN
https://dl.doubtnut.com/l/_2BZ9hT2L3qyO
https://dl.doubtnut.com/l/_YpUhZNyMHnUH

4. A man holds 800 shares of Rs 100 each of a company paying 7.5%
dividend semi-annually.

Calculate his annual dividend.

° Watch Video Solution

5. A man holds 800 shares of rupes 100 each of a company paying 7.5%
divided semi - annually.
If he had bought these shares at 40% premium. What percentage return

does he get on his investment?

° Watch Video Solution

6. A man invests Rs 10,560 in a company, paying 9% dividend, at the time
when its Rs 100 shares can be bought at a premium of Rs 32. Find:

the number of shares bought by him

° Watch Video Solution



https://dl.doubtnut.com/l/_OrFySiP00m1P
https://dl.doubtnut.com/l/_bzJWZXnUuztf
https://dl.doubtnut.com/l/_V4iSc7RTNj2r

7. A man invests Rs 10,560 in a company, paying 9% dividend, at the time
when its Rs 100 shares can be bought at a premium of Rs 32. Find:

his annual income from these shares and

° Watch Video Solution

8. A man invests Rs 10,560 in a company, paying 9% dividend, at the time
when its Rs 100 shares can be bought at a premium of Rs 32. Find:

the rate of return on his investment.

° Watch Video Solution

9. Find the market value of 12% Rs 25 shares of a company which pays a

dividend of Rs 1,875 on an investment of Rs 20,000

° Watch Video Solution

Chapterwise Revision Exercise Linear Inequations



https://dl.doubtnut.com/l/_TlslFN7mvLUZ
https://dl.doubtnut.com/l/_zW89UYQtSaDt
https://dl.doubtnut.com/l/_z4SPxeonwYtW

1. The given diagram represents two sets A and B on real number lines.

A 0 e Oeee———) v
-5 -4-3-2-10 1 2 3 4 5 86

B B Gopy—————

——— =
-4 =3-2-10 12 3 4 56

Write down A and B in set-builder notation.

° Watch Video Solution

2.The given diagram represents two sets A and B on real number lines.

.- @ v v e— v v
,\ M—*

-5 -4-3-2-10 1 2 3 4 5 86

B 0 Gp—yg——p—p——

————— -
“§ 4 =3 =210 1V 2 3 4 5 6

Represent AUB, ANB,A'"NB,A—Band B— A on separate

number lines.

o Watch Video Solution



https://dl.doubtnut.com/l/_9k60FAZmqykg
https://dl.doubtnut.com/l/_9aQr1GHk1fGx

3. Find the values of x, which satisfy the inequation:

1 2z 5
—2< 3" 3 < lg,a: € N Graph the solution set on the real

number line.

° Watch Video Solution

4.Given 20 — 5z < 5(z + 8), find the smallest value of x when:

zel

° Watch Video Solution

5.Given 20 — 5z < 5(z + 8), find the smallest value of x when:

zel

° Watch Video Solution



https://dl.doubtnut.com/l/_kBzig0pdAtWR
https://dl.doubtnut.com/l/_NAHRlUnxemxP
https://dl.doubtnut.com/l/_dKtwByC6xlrK

6. Given 20 — 5z < 5(x + 8), find the smallest value of x when:

rzel

o Watch Video Solution

7.if x € Z,solve: 2 4+ 4x < 2x — 5 < 3z. Also, represent its solution on

the real number line.

o Watch Video Solution

Chapterwise Revision Exercise Linear Inequations True Or False

1LIf (zx —a)(z —b) < 0,thenz < a, and = > b.

° Watch Video Solution

2.1fa < 0 and b < 0,then (a + b)*> > 0.



https://dl.doubtnut.com/l/_QrEdV8yl0gHv
https://dl.doubtnut.com/l/_5QNcuxPECaTB
https://dl.doubtnut.com/l/_jr73Ybh7UpwI
https://dl.doubtnut.com/l/_W23IMHD20Q2d

| ° Watch Video Solution

3.1f a and b are any two integers such that a > b, then a® > b?

° Watch Video Solution

4.If p = q+ 2thenp > q.

° Watch Video Solution

1 1
5.If a and b are two negative integers such that a < b then - > 7

° Watch Video Solution

Chapterwise Revision Exercise Quadratic Equation

1. Solve:

z+3 C2—z



https://dl.doubtnut.com/l/_W23IMHD20Q2d
https://dl.doubtnut.com/l/_83N0Y1S7dfCU
https://dl.doubtnut.com/l/_QwFbd77lG9WO
https://dl.doubtnut.com/l/_7NiHxlW3oAoz
https://dl.doubtnut.com/l/_WzfeXC8LTeHF

| o Watch Video Solution

2
2.(i)SoIve:%+ 6333 = (61;x),(w#6)

3
(ii) Solve the equation 922 + Tx + 2 = 0, if possible, for real values of x.

° Watch Video Solution

3. Find the vlaue of k for which the roots of the following equation are

real and equal k2% — 2(2k — 1)z +4 =0

° Watch Video Solution

b(a — b
4.So|ve:£—a+b: (a ),Whenw#Oanda#O.
a T ax

° Watch Video Solution



https://dl.doubtnut.com/l/_WzfeXC8LTeHF
https://dl.doubtnut.com/l/_gndeBiFfiYJJ
https://dl.doubtnut.com/l/_41Q2MDOr2cfP
https://dl.doubtnut.com/l/_pHhmjsrjc0YK

5.1f —5 is a root of the quadratic equation 2z 4+ pz — 15 = 0 and the
quadratic equation p(m2 + x) + k£ = 0 has equal roots, find the value of

k.

° Watch Video Solution

Chapterwise Revision Exercise Problems On Quadratic Equations

1. x articles are bought at Rs (z — 8) each and (z — 2) some other
articles are bought at Rs (z — 3) each. If the total cost of all these

articles is Rs 76, how many articles of first kind were bought?

° Watch Video Solution

2.In a two digit number, the unit's digit exceeds its ten's digit by 2. The
product of the given number and the sum of its digits is equal to 144.

Find the number.

. l


https://dl.doubtnut.com/l/_RrJS1OsQ7nGq
https://dl.doubtnut.com/l/_uXPHPhFq8YJl
https://dl.doubtnut.com/l/_w2ibVSHmV2Ag
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3. The time taken by a person to cover 150km was 2.5 hours more than the
time taken in return journey. If he returned at a speed of 10 km/hour
more than the speed of going, what was the speed per hour in each

direction?

o Watch Video Solution

4. A takes 9 days more than B to do a certain piece of work. Together they
can do the work in 6 days. How many days will A alone take to do the

work?

o Watch Video Solution

5. A man bought a certain number of chairs for Rs 10,000. He kept one for

his own use and sold the rest at the rate Rs 50 more than he gave for one


https://dl.doubtnut.com/l/_w2ibVSHmV2Ag
https://dl.doubtnut.com/l/_qQwOrTdhD23J
https://dl.doubtnut.com/l/_DrFCIJuDVa53
https://dl.doubtnut.com/l/_RhrkLTZhaH2x

chair. Besides getting his own chair for nothing, he made a profit of Rs

450. How many chairs did he buy ?

° Watch Video Solution

6.In the given figure, the area of unshaded portion is 75% of the area of

the shaded portion. Find the value of x.

° Watch Video Solution



https://dl.doubtnut.com/l/_RhrkLTZhaH2x
https://dl.doubtnut.com/l/_yJBmN48VfMq9

Chapterwise Revision Exercise Ratio And Proportion

va+zx+4/a—zx
va+zT—+/a—=zx

=b

1. Solve for z :

° Watch Video Solution

2.ifa:b=2:3,b:c=4:5and c:d =6:7,find:a:b:c:d.

° Watch Video Solution

V2a+1++2a—-1

3.1fx =
V2a+1-+2a 1

, prove that 22 —4daxr +1=0

° Watch Video Solution

4.Find the compounded ratio of:

(a—b):(a+b) and (b + ab): (a® — ab)

° Watch Video Solution



https://dl.doubtnut.com/l/_BuE3CeBk9Yg2
https://dl.doubtnut.com/l/_BZgdrT1Sl5fE
https://dl.doubtnut.com/l/_Ue8njgIOvLS2
https://dl.doubtnut.com/l/_xi5AaiA1VC4u

5. Find the compounded ratio of:

(z+y):(z—y), (2 +97):(z +y)* and (2 — y?)": (2! — y*)

o Watch Video Solution

6. Find the compounded ratio of:

(z® — 25): (2 + 3z — 10), (2* — 4): (2 + 3z + 2) and (z +1): (z* + 2

o Watch Video Solution

7.The ratio of the prices of two fans was 16: 23. Two years later, when the
price of the first fan had risen by 10% and that of the second by Rs 477,
the ratio of their prices became 11: 20. Find the original prices of the two

fans.

o Watch Video Solution



https://dl.doubtnut.com/l/_xi5AaiA1VC4u
https://dl.doubtnut.com/l/_jmLfRZ7VAnIA
https://dl.doubtnut.com/l/_AXrB7TGklDrB
https://dl.doubtnut.com/l/_t6tX72yVXdgP

Chapterwise Revision Exercise Remainder And Factor Theorems

1. Given that z + 2 and z — 3 are factors of z° + az + b. Calculate the

values of a and b. Also, find the remaining factor.

° Watch Video Solution

2. Use the remainder theorem to factorise the expression

2z + x2 + Tz — 6. Hence, solve the equation 2z + 92> + 7Tz — 6 = 0

° Watch Video Solution

3. When 22° + 52> — 2z + 8 is divided by (z —a) the remainder is

2a% + 5a2. Find the value of a.

° Watch Video Solution



https://dl.doubtnut.com/l/_Bikw31l6s4Og
https://dl.doubtnut.com/l/_Wy5bP69wjb0U
https://dl.doubtnut.com/l/_03OpHvzNuWFa

4. What number should be added to z° — 922 — 2z + 3 so that the

remainder may be 5 when divided by (z — 2) ?

° Watch Video Solution

5. Let R; and R, are the remainders when the polynomials
23 4+ 222 — 5axz — 7 and 2® + ax? — 12z + 6 are divided by = + 1 and

x — 2respecti-vely. If 2R, + Ry = 6, find the value of a.

° Watch Video Solution

Chapterwise Revision Exercise Matrices

15
1. Find matrix B, if matrix A = {1 2] , matrix C' = {

2
1] and AB = 3C

° Watch Video Solution



https://dl.doubtnut.com/l/_d5Pq6tv1qaiU
https://dl.doubtnut.com/l/_W9LfT966vX4n
https://dl.doubtnut.com/l/_KfwpTx9onuat

2. Solve for matrics A and B , where

94 + B 3 4 d A—2B 43
tTE= g, |adA—ZE=

° Watch Video Solution

1 1 -2 4
A= |° ,B = and 34 — 5B + 2X = 31 find
40 2 3 01

the matrix X.

° Watch Video Solution

3 4

4.Given A =
l4 -3

24
] and B = l . ],ﬁnd the matrix X such that AX=

B.

o Watch Video Solution

3 6

5. Given A = { 8} and B=[—2 16], find the matrix X such

that XA=B


https://dl.doubtnut.com/l/_GHRlOKDfiGBn
https://dl.doubtnut.com/l/_8WBBnb4AJgFy
https://dl.doubtnut.com/l/_aSaX5sHnNLog
https://dl.doubtnut.com/l/_GpVebUBQZ4nz

° Watch Video Solution

Chapterwise Revision Exercise Arithmetic Progression A P

1. Find the 15" term of the AP with second term 11 and common

difference 9.

° Watch Video Solution

2. How many threedigit numbers are divisible by 7?

° Watch Video Solution

3. Find the sum of terms of the AP: 4,9, 14,....,, 89.

° Watch Video Solution



https://dl.doubtnut.com/l/_GpVebUBQZ4nz
https://dl.doubtnut.com/l/_d2KcJYazSxnx
https://dl.doubtnut.com/l/_lnWn1CMyt8cl
https://dl.doubtnut.com/l/_G9wX1OPxwwsK

4. Daya gets pocket money from his father every day. Out of the pocket
money, he saves Rs 2.75 on first day, Rs 3.00 on second day, Rs 3.25 on
third day and so on. Find:

the amount saved by Daya on 14t day

o Watch Video Solution

5. Daya gets pocket money from his father every day. Out of the pocket
money, he saves Rs 2.75 on first day, Rs 3.00 on second day, Rs 3.25 on
third day and so on. Find:

the amount saved by Daya on 30" day

o Watch Video Solution

6. Daya gets pocket money from his father every day. Out of the pocket
money, he saves Rs 2.75 on first day, Rs 3.00 on second day, Rs 3.25 on
third day and so on. Find:

the total amount saved by him in 30 days.


https://dl.doubtnut.com/l/_Gm8wcT7zocQ2
https://dl.doubtnut.com/l/_tEETZyI2p5nB
https://dl.doubtnut.com/l/_mS37mVJuqxMW

° Watch Video Solution

7.If the sum of first m terms of an AP is n and sum of first n terms of the

same AP is m, show that sum of first (m + n) terms of it is — (m + n).

° Watch Video Solution

Chapterwise Revision Exercise Geometric Progression G P

1.3 term of a G.P is 27 and its 6™ term is 729, find the product of its first

and 7" termes.

° Watch Video Solution

2.Find 5 geometric means between 1and 27.

° Watch Video Solution



https://dl.doubtnut.com/l/_mS37mVJuqxMW
https://dl.doubtnut.com/l/_DeDZKWqmy3lo
https://dl.doubtnut.com/l/_owqiTWZhN41q
https://dl.doubtnut.com/l/_lv4wWczGE37K
https://dl.doubtnut.com/l/_9SKKN4gyWkpe

3. Find the sum of 10 terms of the series : 96 — 48 +24. ......... )

° Watch Video Solution

4. Find the sum of first n terms of:

4444 + 444 + ...

° Watch Video Solution

5. Find the sum of first n terms of:

0.7+ 0.77 + 0.777 + ...

° Watch Video Solution

6. Find the value of 0.493

° Watch Video Solution



https://dl.doubtnut.com/l/_9SKKN4gyWkpe
https://dl.doubtnut.com/l/_pKcuvOpl9raV
https://dl.doubtnut.com/l/_phUR2c8euOIg
https://dl.doubtnut.com/l/_d0vHcr2jGVkR

Chapterwise Revision Exercise Reflection

1. Find the values of m and n, in each case, If:

(4, — 3) on reflection in x-axis gives ( — m, n).

° Watch Video Solution

2.Find the values of m and n, in each case, If:

(m,5) on reflection iny-axis gives ( — 5, n — 2)

° Watch Video Solution

3. Find the values of m and n, in each case, If:

( — 6, n + 2) on reflection in origin gives (m + 3, — 4)

° Watch Video Solution



https://dl.doubtnut.com/l/_JfaNy1oi9inA
https://dl.doubtnut.com/l/_1trp2XAjYPVH
https://dl.doubtnut.com/l/_lI1rksh6Rsrz

4. Points A and B have the co-ordinates ( —2,4) and ( —4,1)
respectively. Find:

the co-ordinates of A, the image of Ain the line x=0

° Watch Video Solution

5. Points A and B have the co-ordinates ( —2,4) and ( —4,1)
respectively. Find:

the co-ordinates of B', the image of B in y-axis.

° Watch Video Solution

6. Points A and B have the co-ordinates ( —2,4) and ( —4,1)
respectively. Find:

the co-ordinates of A, the image of Ain the line x=0

° Watch Video Solution



https://dl.doubtnut.com/l/_MLMF4iGrZxEo
https://dl.doubtnut.com/l/_EDw7WXLpwW37
https://dl.doubtnut.com/l/_3cH9YWOOd5Gm
https://dl.doubtnut.com/l/_MZ0x0NXS5d10

7. Triangle OA;B; is the reflection of triangle OAB in origin, where
A1(4, — 5) is the image of Aand B;( — 7, 0) is the image of B.
Write down the co-ordinates of A and B and draw a diagram to represent

this information.

° Watch Video Solution

8. Triangle OAB; is the reflection of triangle OAB in origin, where
Ai1(4, — 5) is the image of Aand B;( — 7, 0) is the image of B.

Give a special name to the qudrilateral ABA,B;. Give reason.

° Watch Video Solution

9. Triangle OAB; is the reflection of triangle OAB in origin, where
Ai1(4, — 5) is the image of Aand B;( — 7, 0) is the image of B.
Find the co-ordinates of A,, the image of A under reflection in x-axis

followed by reflection in y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_MZ0x0NXS5d10
https://dl.doubtnut.com/l/_RtlkbAb2roAi
https://dl.doubtnut.com/l/_4VqW4QsVLuhG

10. Triangle OAB; is the reflection of triangle OAB in origin, where
Ai(4, — 5) is the image of Aand B;( — 7, 0) is the image of B.
Find the co-ordinates of B,, the image of B under reflection in y-axis

followed by reflection in origin.

° Watch Video Solution

Chapterwise Revision Exercise Section And Mid Point Formulae

1.In what ratio does the point M(p — 1) divide the line segment joining

the points A(1, — 3) and B(6, 2) ? Hence, find the value of p.

° Watch Video Solution

2. A(—4,4),B(z, — 1) and C(6y) are the vetices of AABC. If the

centroid of this triangle ABC is at the origin, find the values of x and y.

| ° Wiak A \tAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_4VqW4QsVLuhG
https://dl.doubtnut.com/l/_WLkBIPfCce30
https://dl.doubtnut.com/l/_2z7R6nW01Dck
https://dl.doubtnut.com/l/_CkxLRQ6gK7lI
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3.A(2,5),B (-1, 2) and C (5, 8) are the co-ordinates of the vertices of the
triangle ABC. Points P and Q lie on AB and AC respectively, such that : AP:
PB = AQ: OC = 1:2.

Calculate the co-ordinates of P and Q.

o Watch Video Solution

4. A (2, 5),B (-1, 2) and C (5, 8) are the co-ordinates of the vertices of the
triangle ABC. Points P and Q lie on AB and AC respectively, such that : AP:
PB = AQ: OC = 1:2.

1
Show that : PQ = EBC'

o Watch Video Solution

5. Show that the points

(a,b),(a+3,b+4),(a—1,b+7) and (a — 4, b+ 3) are the vertices


https://dl.doubtnut.com/l/_CkxLRQ6gK7lI
https://dl.doubtnut.com/l/_HNPJ46fdGLws
https://dl.doubtnut.com/l/_e8emTCBhCXsU
https://dl.doubtnut.com/l/_TAcRfpAV05uG

of a parallelogram.

° Watch Video Solution

Chapterwise Revision Exercise Equations Of Straight Lines

1. Given points A(1,5), B( — 3,7) and C(15,9)
Find the equation of a line passing through the mid-point of AC and the

point B.

° Watch Video Solution

2. Given points A(1,5), B( — 3,7) and C(15,9)

Find the equation of the line through C and parallel to AB.

° Watch Video Solution



https://dl.doubtnut.com/l/_TAcRfpAV05uG
https://dl.doubtnut.com/l/_itKqIFJ2IefQ
https://dl.doubtnut.com/l/_P2RHsGaF8a0Z

3. Given points A(1,5), B( — 3,7) and C(15,9)

(i) find the equation of the line passing through the mid point of AC and
point B

(i) find the equation of the line through C and parallel to AB

(iii)The lines obtained in parts (i) and (ii) above, intersect each other at a
point P. Find the co-ordinates of the point P.

(iv) assign, giving reason, a special names of the figure PABC

o Watch Video Solution

4. Given points A(1,5), B( — 3,7) and C(15,9)

Find the equation of the line through C and parallel to AB.

o Watch Video Solution

5.The line x-4y =6 is the perpendicular bisector of the line segment AB. If

B=(1, 3), find the co-ordinates of point A.

| o WMl \ i dan Ol iklmn



https://dl.doubtnut.com/l/_q4H2TAZ9RCTX
https://dl.doubtnut.com/l/_FS0dcmayeI0O
https://dl.doubtnut.com/l/_deY9E7seof71
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6. Find the equation of a line passing through the points
(7, —3) and (2, — 2). If this line meets x-axis at point P and y-axis at

point Q, find the co-ordinates of points P and Q.

° Watch Video Solution

7. A( — 3,1),B(4,4) and C(1, — 2) are the vertices of a triangle ABC.
Find:

the equation of median BD.

° Watch Video Solution

8.A(—3,1),B(4,4) and C(1, — 2) are the vertices of a triangle ABC.
Find:

the equation of altitude AE.

° Watch Video Solution



https://dl.doubtnut.com/l/_deY9E7seof71
https://dl.doubtnut.com/l/_WasKHtW15N3f
https://dl.doubtnut.com/l/_7m5XPPPuwufK
https://dl.doubtnut.com/l/_Q494UWmt07El

9. Find the equation of prependicular bisector of the line segment joining

the points (4, — 3) and (3, 1).

° Watch Video Solution

10. If (p+ 1)z +y=3 and 3y — (p— 1)z =4 are perpendicular to

each other, find the vlaue of p.

° Watch Video Solution

MmN If y+2p+1)z+3=0and 8y — (2p— 1)z =5 are mutually

perpendicular, find the value of p.

° Watch Video Solution



https://dl.doubtnut.com/l/_Q494UWmt07El
https://dl.doubtnut.com/l/_u8hrrvaV7ju1
https://dl.doubtnut.com/l/_7lZgfU3OT37z
https://dl.doubtnut.com/l/_9K31lucmRYxS

12. The co-ordinates of the vertex A of a square ABCD are (1, 2) and the
equation of the diagonal BD is x + 2y = 10. Find the equation of the

other diagonal and the co-ordinates of the centre of the square.

° Watch Video Solution

Chapterwise Revision Exercise Similarity

1. M is the mid-point of a line segment AB, AXB and MYB are equilateral

triangles on opposite sides of AB, XY cuts AB at Z. Prove that: AZ= 2ZB.

° Watch Video Solution



https://dl.doubtnut.com/l/_PBbF3lyxsE7X
https://dl.doubtnut.com/l/_NNxLG37o22dL

2.In the given figure, if AC=3cm and CB=6cm, find the length of CR.

° Watch Video Solution

3. The given figure shows a trapezium in which AB is parallel to DC and

diagonals AC and BD intersect at point O.If BO: OD = 4:7, find

A 8

0 c

AAOD: AAOB

| ° Watch Video Solution


https://dl.doubtnut.com/l/_3rLBcUsfM2UZ
https://dl.doubtnut.com/l/_5cFxSHE3snCV

4.The given figure shows a trapezium in which AB is parallel to DC and

diagonals AC and BD intersect at point O.If BO: OD = 4:7, find

A -]

0 e C

AAOB: AACB

° Watch Video Solution

5. The given figure shows a trapezium in which AB is parallel to DC and

diagonals AC and BD intersect at point O.If BO: OD = 4:7,find


https://dl.doubtnut.com/l/_5cFxSHE3snCV
https://dl.doubtnut.com/l/_aUDWDC5B0mWo
https://dl.doubtnut.com/l/_UmGn9AbhcQ2t

0 c

ADOC: AAOB

o Watch Video Solution

6. The given figure shows a trapezium in which AB is parallel to DC and

diagonals AC and BD intersect at point O.If BO: OD = 4:7, find

A e

0 c

AABD: ABOC

° Watch Video Solution



https://dl.doubtnut.com/l/_UmGn9AbhcQ2t
https://dl.doubtnut.com/l/_5xztGxHBhrMf

7. A model of a ship is made to a scale of 1: 160. Find:

the length of the ship, if the length of its model is 1.2m.

° Watch Video Solution

8. A model of a ship is made to a scale of 1: 160. Find:
the area of the deck of the ship, if the area of the deck of its model is

1.2m?

° Watch Video Solution

9. A model of a ship is made to a scale of 1: 160. Find:

the volume of the ship, if the volume of its model is 1.2m®

° Watch Video Solution



https://dl.doubtnut.com/l/_pvS7yhTd6IEn
https://dl.doubtnut.com/l/_ox33CzruB0VC
https://dl.doubtnut.com/l/_fFhw3WArSHqt

10. In trapezium ABCD, AB/DC and DC=2 AB. EF, drawn parallel to AB
cuts AD in F and BC in E such that 4BE= 3 EC. Diagonal DB intersects FE at

point G. Prove that: 7EF= 10AB

A 1)

F

o C

° Watch Video Solution

Chapterwise Revision Exercise Loci

1. In triangle ABC, D is mid-point of AB and CD is perpendiicular to AB.
Bisector of ZABC meets CD at E and AC at F. Prove that:

E is equidistant from A and B

° Watch Video Solution



https://dl.doubtnut.com/l/_QV9YxEbBaESd
https://dl.doubtnut.com/l/_ZfLrPFCciqL9

2. In triangle ABC, D is mid-point of AB and CD is perpendiicular to AB.
Bisector of ZABC meets CD at E and AC at F. Prove that:

F is equidistant from AB and BC.

° Watch Video Solution

3. Use graph paper for this question. Take 2 cm =1 unit on both the axes.

Plot th e points A(1, 1), B(5, 3) and C(2, 7).

° Watch Video Solution

4. Use graph paper for this question. Take 2cm=1 unit on both the axes.

Construct the locus of points equidistance from A and B.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZfLrPFCciqL9
https://dl.doubtnut.com/l/_k1lfkKDPaJUN
https://dl.doubtnut.com/l/_ZyI8Su74vNBU
https://dl.doubtnut.com/l/_PMgN2dve62yc

5. Use graph paper for this question. Take 2cm=1 unit on both the axes.

Construct the locus of points equidistance from A and B.

° Watch Video Solution

6. Use graph paper for this question. Take 2cm=1 unit on both the axes.

Locate the point P such that PA= PB and P is equidistant from AB and AC.

° Watch Video Solution

7. Use graph paper for this question. Take 2cm=1 unit on both the axes.

Measure and record the lengh PAin cm.

° Watch Video Solution

Chapterwise Revision Exercise Circles


https://dl.doubtnut.com/l/_0bpucQo73o6F
https://dl.doubtnut.com/l/_NNdLVvxf7RSh
https://dl.doubtnut.com/l/_VoCOvjEXnMnn

1. In the given figure, ZADC = 130° and BC= BE. Find ZCBE if

AB 1 CE

o Watch Video Solution

2. In the given figure, ZOAB = 30° and ZOCB = 57°, find

/ZBOC and ZAOC


https://dl.doubtnut.com/l/_WMpzf9uVP1Ln
https://dl.doubtnut.com/l/_PF5b7tf2l3sq

o Watch Video Solution

3. In the given figure, O is the centre of the circle. If chord AB= chord AC,

OP 1 AB and OQ 1L AC,show that: PB= QC


https://dl.doubtnut.com/l/_PF5b7tf2l3sq
https://dl.doubtnut.com/l/_ixjdDHwVYX1D

o Watch Video Solution

4.1n the given figure, AB and XY are diameters of a circle with centre O. If

ZAPX = 30°, find:


https://dl.doubtnut.com/l/_ixjdDHwVYX1D
https://dl.doubtnut.com/l/_AFMKirnBMieg

LAOX

° Watch Video Solution

5.1n the given figure, AB and XY are diameters of a circle with centre O. If

ZAPX = 30°, find:


https://dl.doubtnut.com/l/_AFMKirnBMieg
https://dl.doubtnut.com/l/_wVmwsEVX7c5h

LAPY

° Watch Video Solution

6.1n the given figure, AB and XY are diameters of a circle with centre O. If

ZAPX = 30°, find:


https://dl.doubtnut.com/l/_wVmwsEVX7c5h
https://dl.doubtnut.com/l/_ORW1MKmlucL8

/ZBPY

° Watch Video Solution

7.1n the given figure, AB and XY are diameters of a circle with centre O. If

ZAPX = 30°, find:


https://dl.doubtnut.com/l/_ORW1MKmlucL8
https://dl.doubtnut.com/l/_KF7kEF2LH5KV

ZOAX

° Watch Video Solution

8.In the adjoining figure, AB= AD, BD= CD and /DBC = 2/ABD

Prove that : ABCD is a cyclic quadrilateral.


https://dl.doubtnut.com/l/_KF7kEF2LH5KV
https://dl.doubtnut.com/l/_sYXh8GDRNvM6

° Watch Video Solution

9. AB is a diameter of a circle with centre O. Chord CD is equal to radius

OC. AC and BD produced intersect at P. Prove that : ZAPB = 60°


https://dl.doubtnut.com/l/_sYXh8GDRNvM6
https://dl.doubtnut.com/l/_7WbZC9n1iEsM

o Watch Video Solution

Chapterwise Revision Exercise Tangents And Intersecting Chords



https://dl.doubtnut.com/l/_7WbZC9n1iEsM

1. In the given figure, AC= AB and ZABC = 72°. OA and OB are two

tangents. Determine:

A

LZAOB

° Watch Video Solution

2. In the given figure, AC= AB and ZABC = 72°. OA and OB are two

tangents. Determine:

A

angle subtended by the chord AB at the centre.


https://dl.doubtnut.com/l/_pEA3pM55ASx0
https://dl.doubtnut.com/l/_YnjEy0UlM9v5

o Watch Video Solution

3. In the given figure, PQ, PR and ST are tangents to the same circle. If

/P =40° and ZQRT = 75°,find a,b and c

o Watch Video Solution

4. In the given figure, ZABC = 90° and BC is diameter of the given

circle. Show that:


https://dl.doubtnut.com/l/_YnjEy0UlM9v5
https://dl.doubtnut.com/l/_lqqSGx5wsNvd
https://dl.doubtnut.com/l/_1I3iJ7gjtizB

AC x AD = AB?

o Watch Video Solution

5. In the given figure, ZABC = 90° and BC is diameter of the given

circle. Show that:


https://dl.doubtnut.com/l/_1I3iJ7gjtizB
https://dl.doubtnut.com/l/_8iX2BjBaYQuA

AC x CD = BC?

o Watch Video Solution

6. In the given figure, AB, BC and CA are tangents to the given circle. If AB=

12cm, BC= 8cm and AC= 10cm, find the length of AD, BE = CF


https://dl.doubtnut.com/l/_8iX2BjBaYQuA
https://dl.doubtnut.com/l/_GsdFiBPOUa9Q

4 = n

o Watch Video Solution

7.AB and CD are two chords of a circle intersecting at a point P inside the
circle. If

AB= 24cm, AP= 4cm and PD = 8cm, determine CP

o Watch Video Solution



https://dl.doubtnut.com/l/_GsdFiBPOUa9Q
https://dl.doubtnut.com/l/_BoQAi9QhPFYo

8. AB and CD are two chords of a circle intersecting at a point P inside the
circle. If

AP=3cm, PB= 2.5cm and CD= 6.5 cm, determine CP.

° Watch Video Solution

9. AB and CD are two chords of a circle intersecting at a point P outside
the circle. If

PA= 8cm, PC= 5cm and PD= 4cm, determine AB.

° Watch Video Solution

10. AB and CD are two chords of a circle intersecting at a point P outside
the circle. If

PC=30cm, CD=14cm and PA=24cm, determine AB.

° Watch Video Solution



https://dl.doubtnut.com/l/_6HTLt5PO93jx
https://dl.doubtnut.com/l/_effGW9AX9lMv
https://dl.doubtnut.com/l/_IM1DHlW8Xftw

Chapterwise Revision Exercise Construction

1. Construct a triangle ABC in which AC=5cm, BC=7 cm and AB= 6cm.

Mark D, the mid-point of AB

° Watch Video Solution

2. Construct a triangle ABC in which AC=5cm, BC=7 cm and AB= 6cm.
Construct a circle which touches BC at C and passes through D, where D is

the midpoint of AB.

° Watch Video Solution

3. Using ruler and compasses only: draw a circle of radius 4cm. Produce
AB, a diameter of this circle, upto point X so that BX= 4cm. Construct a

circle to touch AB at X and to touch the circle, drawn earlier, externally.

° Watch Video Solution



https://dl.doubtnut.com/l/_GFrRYfa8wxUc
https://dl.doubtnut.com/l/_34WGBFWOp8jD
https://dl.doubtnut.com/l/_2CmF8N0nSevy

Chapterwise Revision Exercise Mensuration

1. A cylindrical bucket 28 cm in diameter and 72 cm high is full of water.
The water is emptied into a rectangular tank 66 cm long and 28 cm wide.

Find the height of the water level in the tank.

o Watch Video Solution

2. A tent is of the shape of a right circular cylinder upto height of 3
metres and then becomes a right circular cone with a maximum height of
13.5 metres above the ground. Calculate the cost of painting the inner
surface of the tent at Rs 4 per sq. metre, if the radius of the base is 14

metres.

o Watch Video Solution

3. A copper wire of diameter 6mm is evenly wrapped on the cylinder of

length 18cm and diameter 49cm to cover the whole surface. Find:


https://dl.doubtnut.com/l/_uBBizp6dUjId
https://dl.doubtnut.com/l/_rNSrQUy3QeGM
https://dl.doubtnut.com/l/_cERgeO8OfvJ4

the length

o Watch Video Solution

4. A copper wire of diameter 6mm is evenly wrapped on the cylinder of
length 18cm and diameter 49cm to cover the whole surface. Find:

the volume of the wire.

o Watch Video Solution

5. A pool has a uniform circular cross-section of radius 5m and uniform
depth 1.4m. It is filled by a pipe which delivers water at the rate of 20
litres per sec. Calculate, in minutes, the time taken to fill the pool. If the
pool is emptied in 42min, by another cylindrical pipe through which water

flows at 2m per sec, calculate the radius of the pipe in cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_cERgeO8OfvJ4
https://dl.doubtnut.com/l/_sWuoZbPrMRJS
https://dl.doubtnut.com/l/_3GB7gVP2j7Fe

6. A test tube consists of a hemisphere and a cylinder of the same radius.
The volume of water required to fill the whole tube is 2849/3 c¢m® and
2618/3 cm® of water is required to fill the tube to a level which is 2cm

below the top of the tube. Find the radius of the tube and the length of

its cylindrical part.

o Watch Video Solution

7. A sphere is placed in an inverted hollow conical vessel of base radius
5cm and vertical height 12cm. If the highest point of the sphere is at the
level of the base of the cone, find the radius of the sphere. Show that the

volume of the sphere and the conical vessel are as 40: 81.

o Watch Video Solution

8. The difference between the outer and the inner curved surface areas of
a hollow cylinder, 14cm long, is 88sq. cm. Find the outer and the inner

radii of the cylinder, given that the volume of metal used is 176cu.cm.


https://dl.doubtnut.com/l/_fEzUbvwl8zT1
https://dl.doubtnut.com/l/_7R8mMZTc6g1v
https://dl.doubtnut.com/l/_qtQ9sSsUv1MI

° Watch Video Solution

Chapterwise Revision Exercise Trigonometry

1+cosA>2 _ 1+cosA

1. Prove that: ( - _—
sin A 1—cosA

° Watch Video Solution

1+ secA B sinZ A

2. Prove that: =
sec A 1—cosA

° Watch Video Solution

3. Prove that :

cos A(1 + cot A) 4+ sin A(1 + tan A) = sec A + cosecA

° Watch Video Solution



https://dl.doubtnut.com/l/_qtQ9sSsUv1MI
https://dl.doubtnut.com/l/_6O7wRHHvlSlu
https://dl.doubtnut.com/l/_iY3WlmR5dc4S
https://dl.doubtnut.com/l/_zaJIzrsXC8ss

4, Prove that:

sin? Atan A + cos? Acot A + 2sinAcos A = tan A + cot A

° Watch Video Solution

5.1f tan A=1and tan b = /3, evaluate :

cos A cos B -sin Asin B.

° Watch Video Solution

6.1f tan A=1and tan b = /3, evaluate :

sin A cos B+ cos A sin B.

° Watch Video Solution

7. As observed from the top of a 100 m high light house from the sea

level, the angles of depression of two ships are 30° and 45° If one ship is


https://dl.doubtnut.com/l/_1nNFZHpYYdUg
https://dl.doubtnut.com/l/_6WwnO9RiVW6h
https://dl.doubtnut.com/l/_AC9AxtLRVgxh
https://dl.doubtnut.com/l/_AfAr4zVOxaGP

exactly behind the other one on the same side of the light house, find the

distance between the two ships.

° Watch Video Solution

8.1f (2cos 24 — 1)(tan3A — 1) = 0, find all possible values of A

° Watch Video Solution

9
9.1fcos A = H,ﬁnd the value of

—cot’ A

sinZ A

° Watch Video Solution

10. From the top of a light house, it is observed that a ship is sailing
directly towards it and the angle of depression of the ship changes from

30° to 45° in 10 minutes. Assuming that the ship is sailing with


https://dl.doubtnut.com/l/_AfAr4zVOxaGP
https://dl.doubtnut.com/l/_8Bz5GiwEeWEl
https://dl.doubtnut.com/l/_Rl9unvS2np9Z
https://dl.doubtnut.com/l/_Xj0Ol5sr7EmV

uniform speed, calculate in how much more time (in minutes) will the

ship reach the light house?

° Watch Video Solution

Chapterwise Revision Exercise Statitics

1. Calculate the mean mark in the distribution given below:

Marks 1-10 1-20 21-% 340 415 S1-60
Frequency 7 9 15 L] 6 s

Also, state the modal class.

° Watch Video Solution

2. Calculate the mean, the median and the mode of the following

distribution:

Marks 3 + s 6 7 ) 9 10
Frequency 3 s L 7 9 4 3 !

o Watch Video Solution



https://dl.doubtnut.com/l/_Xj0Ol5sr7EmV
https://dl.doubtnut.com/l/_0NzaVGQTK3Tv
https://dl.doubtnut.com/l/_Uvmfe11h2nJ6

3. Draw an ogive for the following distribution

Income in T 120140 | 1404160 | 160-180 | 150-200 | 200.220 | 220-240
No. of employees 30 n 9% %0 0 p- ]

Use the ogive drawn to determine:

the median income,

° Watch Video Solution

4. Draw an ogive for the following distribution

Income in € 120-140 | 140-160 | 160-180 | 180-200 | 200-220] 220-200
No. of employees | 30 n %0 %0 ) I ]

Use the ogive drawn to determine:

the number of employees whose income exceeds Rs 190

o Watch Video Solution

5.The result of an examination is tabulated below:

Marks (less than) | 10 | 20 | 30 | 40 | SO [ 60 | 70 | %0 | 90 | 100
No. of candidates | 0 25 | 42 | 65| 95 | 120 | 128 | 13S | 148 | 150



https://dl.doubtnut.com/l/_3McwJjDkWe9L
https://dl.doubtnut.com/l/_HbcoAV8YETLz
https://dl.doubtnut.com/l/_aJfq7BdSEZPs

Draw the ogive for the above data and from it determine:

the number of candidates who got marks less than 45

° Watch Video Solution

6. The result of an examination is tabulated below:

Marks (less than) 10| 20| 3| 0| 5 | &0 70 | 9 | 100

No. of candidutes | 0 | 25 | 42 | as | 95 120 [ 128 | 13s | 1as | 150

L

Draw the ogive for the above data and from it determine:

the number of candidates who got marks more than 75

° Watch Video Solution

Chapterwise Revision Exercise Probability

1. Abag contains a red ball, a blue ball and a yellow ball, all the balls being

of the same size. If a ball is drawn from the bag, without looking into it,
find the probability that the ball drawn is:

yellow


https://dl.doubtnut.com/l/_aJfq7BdSEZPs
https://dl.doubtnut.com/l/_yPFHkwscrpt8
https://dl.doubtnut.com/l/_ozz3Ly8Oc27C

o Watch Video Solution

2. A bag contains a red ball, a blue ball and a yellow ball, all the balls
being of the same size. If a ball is drawn from the bag, without looking
into it, find the probability that the ball drawn is:

red

o Watch Video Solution

3. A bag contains a red ball, a blue ball and a yellow ball, all the balls
being of the same size. If a ball is drawn from the bag, without looking
into it, find the probability that the ball drawn is:

blue

o Watch Video Solution

4. A bag contains 6 red balls 8 blue balls and 10 yellow balls, all the balls

being of the same size. If a ball is drawn from the bag, without looking


https://dl.doubtnut.com/l/_ozz3Ly8Oc27C
https://dl.doubtnut.com/l/_qPfvirBj53Ix
https://dl.doubtnut.com/l/_wpPM8XOFoIFw
https://dl.doubtnut.com/l/_fG2eT6jTVZVe

into it, find the probability that the ball drawn is:

Yellow

° Watch Video Solution

5. A bag contains 6 red balls 8 blue balls and 10 yellow balls, all the balls
being of the same size. If a ball is drawn from the bag, without looking
into it, find the probability that the ball drawn is:

red

° Watch Video Solution

6. A bag contains 6 red balls 8 blue balls and 10 yellow balls, all the balls
being of the same size. If a ball is drawn from the bag, without looking
into it, find the probability that the ball drawn is:

blue

° Watch Video Solution



https://dl.doubtnut.com/l/_fG2eT6jTVZVe
https://dl.doubtnut.com/l/_Cu7BaaiHnb3q
https://dl.doubtnut.com/l/_xGmPC1ui1XLB
https://dl.doubtnut.com/l/_1N6rZCiThyGm

7. A bag contains 6 red balls 8 blue balls and 10 yellow balls, all the balls
being of the same size. If a ball is drawn from the bag, without looking
into it, find the probability that the ball drawn is:

not yellow

o Watch Video Solution

8. A bag contains 6 red balls 8 blue balls and 10 yellow balls, all the balls
being of the same size. If a ball is drawn from the bag, without looking
into it, find the probability that the ball drawn is:

not blue

o Watch Video Solution

9. Two dice are thrown at the same time. Write down all the possible
outcomes. Find the probability of getting the sum of two numbers
appearing on the top of the dice as:

13



https://dl.doubtnut.com/l/_1N6rZCiThyGm
https://dl.doubtnut.com/l/_0gSuTIh2OS3l
https://dl.doubtnut.com/l/_yKOTRSIWsj7B

Watch Video Solution

10. Two dice are thrown at the same time. Write down all the possible
outcomes. Find the probability of getting the sum of two numbers
appearing on the top of the dice as:

less than 13

o Watch Video Solution

1. Two dice are thrown at the same time. Write down all the possible
outcomes. Find the probability of getting the sum of two numbers
appearing on the top of the dice as:

10

o Watch Video Solution

12. Two dice are thrown at the same time. Write down all the possible

outcomes. Find the probability of getting the sum of two numbers


https://dl.doubtnut.com/l/_yKOTRSIWsj7B
https://dl.doubtnut.com/l/_CmiRyI139p57
https://dl.doubtnut.com/l/_NrJjRQMdlp3A
https://dl.doubtnut.com/l/_Az3t3UrAUTy9

appearing on the top of the dice as:

less than 10

o Watch Video Solution

13. Five cards the ten, jack, queen king and ace of diamonds, are well-
shuffled with their face downwards. One card is then picked up at

random. What is the probability that the card is the queen?

o Watch Video Solution

14. Five cards the ten, jack, queen king and ace of diamonds, are well-
shuffled with their face downwards. One card is then picked up at
random. If the queen is drawn and put a side, what is the probability that

the second card picked up is (a) an ace? (b) a queen?

o Watch Video Solution



https://dl.doubtnut.com/l/_Az3t3UrAUTy9
https://dl.doubtnut.com/l/_NP9K7OR9Iykr
https://dl.doubtnut.com/l/_21y2yTshH5MI

15. A lot of 20 bulbs contain 4 defective ones. One bulb is drawn at

random from the lot. What is the probability that this bulb is defective?

° Watch Video Solution

16. A lot of20 bulbs contain 4 defective ones. One bulb is selected at
random from a lot.Suppose the bulb drawn in (i) is not defective and not
replaced. Now bulb is drawn at random from the rest. What is the

probability that this bulb is not defective?

° Watch Video Solution



https://dl.doubtnut.com/l/_S7Rx1x5epCQO
https://dl.doubtnut.com/l/_fOEZL8vUHTXR

